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2>6=(1=2=2>6)

ooo0oboomoooboooooboooobooboooooboooooom
oobooobooooboooooooooooooooooooooooDooooDoomoooooog
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AOBACOOOODO
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3.1 0000
000000000000000000000000000000000000
1=1
2>1

ubod0000 z=<0

00000000TeVOOOOUOOOOOOOOOOOOOOOOOOOOOO (predicatelogic) 00
oooooobooooobooooon
gbooooobooooboooooon

oooobOoooobooboobooobOoboooobobooonoo
ooooboooooao

oono

oooobooogobooooog

oooobooooboobooooooboo

gbooooboobooom
gobobooboobooboon

Ooo0oDoo0oOoooooooob P,QODOO

P = Q, P, Q

ggbgbobobboobooboobuoobobbobbooboobooboobaon
gobooboobooboobooboobooboobooboobooboobooboon o
goog

Uxd00oooom
OxOO00OO0oo0Oooooomm

gboooooboooobooboooo
Is_human(z), Is_motal(z)

O000Is.human, Ismotal(z) 00000000000 0O0O000000000 00000000
gboboobOoboooobobooooobooooboobooonoo

Ishuman(DOO0O0), Ismotal(DOOOO)
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0000 T(0)00000
Is_human(O), Is_motal(0)

0000 F(O)oOoooooo T(O)oooo

oono

Is_human(z) = Is_motal(x)

gogoobbbbooooobobbboooooo
0000 20000 Is_human(z) = Is_motal(z)0

000000 7(0)0000Is_human(z), Is.motal(z) D000 x000000000000000
0000D0000000000000000000000000000000000000000000
0000000000000

3.1.1 000

0000000000o0o0oU0oo v={T,F}000U00O0O000o0o0O0o0oooooooooooo
o0DbDoO0oooobooooboboobobob0 zobooooobO ROOOOOODOOOOODODOO
00000000000000000D0O0000000D00D0UD0OU0OO0DDOOV={T,F}O000OO

P.2eD—P(z)eV (3.1)

010000000 (propositional function) 00O P(2) 0000000 (predicate) 0000
00DOO0D00O000000D=D; xDyx-xDy(={(21,22, -, 2n)|z; €D;})) 000000
000000000000000000000PO 0000000000000 »nO000000000
00000 DO POOOOO (objectdomain) 00 0ODOO0O0O0D0 POOOOOOOOO00OOP
00000 DOOODO0O0OO0OO0O0O0O00000P(x)0DO00O0D0D000
00000000000 NOOOOOOOO

prime : © € N — prime(z) € V

T 000000

prime(x) =
F 00000000

000000000000 NOO (100)0000o000prime(x) 0 NOD (100)00000O0O
goooogd
z000000

O000O0000O000prime(x) 002 000000 7,0000000 FOOOOOOOOOOOO
P:z2eD—P(zx)eV

D00D0P(z) O02(eD)0 POOOOOOODO
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3.1.2 OU0OO0OobObOoOOoOooon

D000 P:2eD—P(x)eV)00DO
re€D—-P(z)eV (3.2)
0000000 -P(x) D0D0O0OU0OO0OD P,Q:D—-VOIOOUDOOOOO
re€D—Px)AQ(x) eV (3.3)

0000000 P(z)AQ(z) 000D
0ooo

P(z) vV Q(z), P(z) = Q(z), P(z) < Q(z) (3-4)

000000000000000-,A,V,=,« 00000000000 2200000000000
ooo

n 000000000000k D (k<n 0D00O0D00D0O00D00000000000000O00

(n—k)00D00000O0DO00O00O0O0O00 2,y00000 z<y02000000000z<2r01
ooboobooboobobo3<2r0ob00obOOoboooOoobOoOooon
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3.1.3 004

oooooogo p
P:2eD—P(zx)eV (3.5)

00000000,00
/\ P(z) (3.6)

zeD

(Vz)(P(x)) 0000 (Ve eD)(P(z))
ooooobooOoDbDbOOoooobooboooooo,bobn

D= {a17a'27a'37"'7an} (37)

good
/\ P(z) =P(ay) AP(az2) A--- AP(ay) (3.8)
z€D

000,D00000O0O0O0OO0DUO0 20000 P(x)D0D0O0OO0OOOOUOOOOODO
oobooboooao

T 0002zeDO00P()=7000

3.9
F Px)=FOOOzeDOOOOOOO (3.9)

(WEDMW%={
000000 DODOO0O0O0D eDO0OOOO(Ve)(P(z)) 00000 (0000)2z000 P(z)0DO
0000000000000
00

\/ P(2) (3.10)

(Fz)(P(x)) 0000 (3z € D)(P(x))

oo boooooboboboooooo,oood
D:{alaa2aa3a"'7an} (311)

gooo

\/ P(z) =P(a1) VP(az) V- VP(ay) (3.12)
zeD

000,bDO000O00O0OO0DOODO 0000 P(x)0D0O00DOOOOODOOOODODOOOOOO

T P@)=T000zeDOO0DO000O

(3.13)
F 000zeDOOOP@ =FO00

(3 € D)(P(a)) = {

oo0ooooO0O0ooOo0o DbDOOOO0OObO eDODbDOOOO

(37)(P(x))
O0P(z) 0000 20000000000000000
P(z)0 10000000000 (V2)(P(2)),(32)(P(z)) 0000 00000000000000000
0000000002000000V0300000001000000000
oooo
P(z,y)
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obooooobooog

(Vz € D)(P(z,y)) = )\ P(a,y) (3.14)
zeD

(Jz € D)(P(z,y)) = \/ P(z,y) (3.15)
zeD

Uydbboobloboboboaoboaoo

DOOOOO

D= {a17a2,a3,"'aan}

ubogbouagooobogbobooboaoboabooan

N P(a,y) = P(a1,y) AP(az,y) A+ AP(an,y) (3.16)
zeD
\/ P(z,y) = P(a1,y) V P(az,y) V-V P(a,,y) (3.17)
zeD

P(ai7y) i:1,27"'7n

UydbO0dboO0o1l10000booobooboooooboooooobo1boobooooona

000 n000000VOJd0000000 (n—1)000000000n00000O
Py, %1, i, Tig1, -+, Tn) (3.18)
0000 x; 0000 VO JdJ00000004
(Vo; € D)Y(P (X1, Tim1, Tiy Tig1, "5 Tp)) = /\ Pz, @1, T, Tig1, -, Zn)  (3.19)

z, €D
(Fzi € D)(P(z1,- -+, @im1, T4, Tig1, -0+, Tn)) = \/ P(z1, -, @io1, %, i1, @) (3.20)
z; €D
O a1, @1, %5, Tip1, -, 2, 00000 n— 1000000000000
VOOOOO (universal quantifire)03 00000 (existential quantifire) 0000000000000
oooooo
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3.1.4 0OU00OOgOoOOOd

(Vz € D)(P(z,y)) = \ P(z,y) (3.21)

zeD
(3z € D)(P(z,y)) = \/ P(z,y) (3.22)

zeD

0000 DOOOooo
D ={aj,as,as3, -, a,}
ooooo

(Vx € D)(P(z,y)) = P(a1,y) AP(ag,y) A--- AP(an,y) (3.23)
(E'il’ € D)(P(l’,y)) = P(alay) \ P(a27y) VeV P(ana y) (324)

0:00000000000000000000000000 (bound variable) 0000000000
0000000000000000000y00000000000000000 (free variable) 0 000
00000000000000000000

00 x<yD0200000000000 ) (z<y)0 (Vo)(z<y)0 1000000000

(Fy)Ex)(z < y), Fy) (Vo) (x <y), (Vy) Ex)(z < y), (Vy)(Vz)(z < y)

gooboooobooboooooan

3.1.5 0OO040oon

vO 3000000000000 00000000o booooo
D:{al,a@,a?w"'aan} (325)

oooooo
beDUO ai,as,a3,-,a, 0000000000000000 b=¢q, 000000

00000 120000000000000000
(Ve € D)(P(z)) = P(ax)

= —|(P(a1) AP(az) A---Plag) - /\P(an)> vV P(a)
=-P(a;)V-P(az) V---V-Plag) -V -P(a,) VP(ar)

=-P(a1) V-P(az) V-V -Plag_1)V-Plary1) -V P(an) V -P(ar) VP(ar)
=-P(a;)V-P(az) V- -V -Plag_1) V-Plags1) - V-Plan) VT
=T (3.26)
oooDooO00 beDODOO
(Vz)(P(x)) = P(b) (3.27)

gobooboooobooo
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ooooboo:0000

A= P(ai)

oobooboooao

A= (Vz € D)(P(x))

— AV (P(al) AP(as) A--- /\P(an)>

— (AVP(a)) A (AVP(a2)) A A (A P(ay))
=TA---ANT

=T

00000000 beDO00A=P(P 000000000
A= (Vo) (P(x))
(000 ADDDOOO0)
0000000000
0000000120000000000000000
P(ax) = (3z € D)(P(x))

= —P(az) V (P(al) VP(as) V- Plag) -V P(an)>
= —P(ay) VP(a1) VP(az) - VP(ar)---VP(ay)

=-Plag) VP(ar) VP(a1) VP(a2) V- VP(ag—1) VP(ags1) -

=TV P(al) V P(CLQ) VeV P(CLk_l) vV P(ak+1) eV P(an)
=T

00000000 eeDOOO
P(a) = (J)(P(x))

goooboooobogo

ooooooo kOoboOoOd
P(ak):>A
gooboooooobooooo 12000000000 ooooon

z)(P(z)) =
(P )V P(ag) VP(a3) vV -vP(an))vA

||’\

( P(a1) A —P(as) A =P(az) A 'AﬁP@w)vA

vV P(ay)

= (+P(a1) V A) A (<P(az) v A) A (<P(ag) V A) A~ -~ A (<P(a,) V A)
= (P(a1) = A) A (P(az) = A) A (P(az) = A)A - A (P(ay) = A)

37

(3.28)

(3.29)

(3.30)

(3.31)
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O00,0000bbeDDOOO
Pbh)=A

gboooobgooog

Gx)(P(z)) = A
(000 ADDOOOO0)

ooooboooao

PO QO DOOOOOODO

(V) [P (x) A Q()]

(P(a1) A Q(ar)) A+ A (P(an) A Qlan))

= (P(a)) A--- AP(an)) A (Qar) A -+ A Qlan))
= (Va)(P(x)) A (v2)(Q(x))

000000000000
(Vz)[P(z) A Q(x)] = (Vo) (P(2)) A (V2)(Q(x))
oooooo
ufly

) [P(z) V Q(x)]

P(a1) vV Q(a1)) V- -V (P(an) v Q(an))

a1) V.-V P(an)) vV (Qar) V- -V Qlan))
) (P(x)) v (32)(Q(x))

000000000000
(B2)[P(2) v Q(x)] = (B2)(P(2)) v (32)(Q(x))
0ooooo

0000000000000 0000000000 100000 P(x)OODOO

(Vo) (P(2)) = (P(a1) A--- AP(an)) = (Vy)(P(y))

(Bz)(P(2)) = P(a1) V-~V P(an) = () (P(y))
0000000000000000000

200000 P(x,y)UOOO,00000120000000000000000

goog

(3.34)

(3.35)

(3.36)

(3.37)

(3.38)

(3.39)

(3.40)

(3.41)
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~
Il
3

(v2)(W)(Py) = (v2)( A\ (Pr,a0)
k=1

_ i=n (l»c/_\n(l:’(al7 ak))
i=1 k=1
k=n i=n

= ( (P(ai,ak))

E
Il
=
o
Il
-

= (¥)(¥2)(P(x.y)) (3.42)
k=n
E2)F)(P,y) = G0V P@a)
k=1
i=n k=n
= V(V®@.aw)
i=1 k=1
k=n i=n
= V(V®@.aw)
k=1 i=1
~ (B)E)(P(,y)) (3.43)
gobo,bo0booboboobooboobooboobobboon
gobdb1120b000b0oboboboboobooo
|(v2)(P(2)) = (3o) (P(x))]
= ~(¥2)(P(x)) V (32) (P(x))
- —(/\(P(ai)) v (\/(P(ai)> (3.44)
i=1 1=
googod
=V (-P@) v (V (Pl@)
= \_/ (_‘P(a'i) \ P(ai))
-V)
=T (3.45)
good
(v2)(P(2)) = (32)(P(2)) (3.46)

uboobooogn

ubooobobobol120000000000000000

Fy)(vz)(P(z,y)) = (V2)(Fy) (P (2, y)) =T
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By)(Vz)(P(z,y)) = (V2)By) (P(z, y))
0000000000

O0D0O,P0 QO DOOOOOOOO,

(Vz)[P(z) = Q(2)] = [(V)(P(z)) = (V2)(Q())]

(F2)[P(z) = Q(2)] = [(3)(P(z)) = (32)(Q(x))]
0000000000

oO00DbOoOoooooOoooooO0ooooboOoooobobooooobooOoo
oow7

() DOOOO POODOOO
() 00000 eeDOOO
(Va)(P(z)) = P(a)

gbooooogoboo
(b) 00UO0O0O eeDO0OO0 A=P(e)0000O0O0OOOO

A= (Vz)(P(z))
(000 AODDDOOOO0)

gobooboooobooo

(¢ 00000 eeDOOO
P(a) = (3z)(P(x))

gboooboooogo

(d) 00000 aeDOOO
P(a)= A

gboooogaod

(Bz)(P(z)) = A
(000 ADDDOOO0)

00000000
(i) DOOODO PO QOOOO

(a)

(V2)[P(z) A Q(z)] & (Vo)(P(2)) A (V2)(Q())
00000000000000000000000000000000

(Va)[P(z) A Q(z)] = (Vo) (P(z)) A (V) (Q(x))

ugbooaod

030 O0ood

(3.47)

(3.48)

(3.49)
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(2)[P(z) vV Q(z)] & (F2)(P(2)) v (B2)(Q())
00000000000000000000000000000000

(2)[P(z) vV Q(z)] = (B2)(P(z)) V (32)(Q(x))
oooooo

() 000000000 QUUUODOOUOO0OULDO0OD QUUUUOOODUOoOoOoooo
OO000ooOo0o0o0ooObo0o0 Gooooo

Q<G
goooooooobbooooooboooobbuoooooobooo
Q=G
goooooooo
(Vo) (P(z)) = (Vy)(P(y))

(32)(P(2)) = (Fy)(P(y))
() 00 QUUOODOOD0OD0OD0OD000O0DNONONDNDODNOODDN0OOO G

gooon
Q&G
oo oooobooooooobog
Q=G
ogpooo
gooon

(V) (Vy) (P (2,)) = (Vy) (V) (P(z,y)),
(B2)(3y)(P(z,y)) = Fy) Bz)(P(2,y))
(c)
(Vz)(P(z)) = (3)(P(x))
0000000000
(d)
(y)(Vz)(P(z,y)) = (V2)(By) (P (2, y))
sfsislufalialsisluls
(vy DODOOO P,QUOD0D0OD0DDOO0OOO
(a)
(Va)[P(z) = Q(z)] = [(Vz)(P(z)) = (V2)(Q(x))]
(b)
(2)[P(z) = Q(z)] = [(F2)(P(z)) = (B2)(Q(x))]

2

10000 E)[P() AQ()] # (J0)(P(2) A (Fr)(Q()), (V2)[P(2) V Q)] # (V2)(P(2)) V (V2)(Q(x)) 00 000D DO
2 (i) O (c),(d), (iv) O (a),(b) 000D00000D0D0O00OON
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3.1.6 OUOoond

ocobooOoooooooOooooooooby Joooo0o0oooobOoboOoOooDOoOoOooDboOoooD
OO0O00000 prenex normal form 0000000000000 O0OO0OOOOODOOOOO
OOo0oooooobOogooo

D= {a17a27a37" '70,“}

goopooooooooobDbOobOoOooOoooooooo

-goooooo

oo 8.1

obooobO12000000000000¢0

—~(V2)(P(x))  ==(P(ar) A--- AP(an))
=-P(ay1)V-P(ay)---V-Play)
= (Fz)(=P(z)) (3.50)
—~(Fz)(P(z))  =~(P(a) V-~V P(an))
=-P(a1) A—=P(ar) - A -P(a,)
— (v2)(~P(x)) (3.51)

oood

oooov,3oooocgooo
P(z)0 00000 BOOOODOOOOO 12000000082000000

uo 8.2

B A (Vz)(P(z)) =BAP(ar) A ANPlay))

= (BAP(a1))A---AN(BAP(a,))

= (Vz)(BAP(z)) (3.52)
Bv (Ve)(P(z)) =BV (P(a)A---AP(an))

=(BVP(a1))A---A(BVP(ay))

= (Vz)(BV P(z)) (3.53)
BA(G2)(P(z))  =BA(P(a) V-V P(a,)

= (BAP(a)) V-V (BAP(an))
= (32)(BAP(2)) (3.54)



3.1. O0Ooo
BV (3x)(P(z)) =BV (Pla) V-V P(ay))
= (BVP(a) V-V (BVP(an))
= (J2)(BV P(z))
B= (V2)(P(z)) =-BV (Vz)(P(z))

=BV (P(a1) A--- AP(ay))
=(—BVP(a)A---A(=BVP(a,))
= (Vz)(=BV P(x))
= (Vz)(B = P(z))

B = (3z)(P(z)) =-BV (3z)(P(x))
=-BV(P(a1)V---VP(ay,))
=(-BVP(a1))V---V(=BVP(a,))
= (Fz)(-BVP(x))
= (3z)(B = P(x))

(Va)(P(z)) = B ~(Vz)(P(z)) v B
~(P(a1) A--- AP(a,) V B
—|P(a1) \ _‘P(al) -V _'P((ln) Vv B

= (7P(a1) VB) V (=P(a1) V B) -~V (=P (an) V B)

= (3z)(=P(z) Vv B)
= (3z)(P(x) = B)

(Fz)(P(x)) = B =(3z)(P(x)) VB
=(P(a;)V---VP(an)) VB
(=P(a1) A —=P(ay)---A—-P(a,)) VB
(=P(a1) v

(Va)(-P(z) v

(Vo) (P(z) = )

ggbogooabood
oo vo 88200000 00bo0ooooooboooobobobooog

1. 0go0ooboobooboobuoobooboobobbobooboon

(Fx)(P(z,y)) A (V9)(Q(y, 2)) = (Fz)(P(z,y)) A (Vw)(Q(w, 2))

2.-0000000
0081(0000UoO0)0oo

oooobooon

B) A (ﬁP(al) AB)--- A (=P(an) V B)

43

(3.55)

(3.56)

(3.57)

(3.58)

(3.59)
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030 O0ood

3. 0000V, J0000000
o0 82000

obooooobooooon

0000000000 VvOOD (0D A0ODO0)0D0000000000000O0DO0O0ODO0O0O0
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040 0O0OO0OOO0

4.1 00000000

000000000000 V={7,F}0000000000000000000000000000
00000000000000000000DO0O000ONON000000000000

00 DODODO0O0OO0OO0D0ODO0O00000O00000000000000D=20000000000
00000000D=CO0000000002>y0000DO00000O0O0O00000O0000
00 sin(z) = yO cos(sin(z)) =y 000000 DOOODD DOOOOOOODOO00O0O0O0O0O0000
00000000000

0000000 DOO0O0D00000000000000000000000000000

1. 00000000000000000Oe,e,---000 000000000 ¢%,¢9,---0000000

2.0000000DOOOODOO0O0ODOZ,2e,---0000000C

3. 00000DUOD0DOOD0Ob0O0OODODg,eq,---0000000O
gooobooooboobooooboobooogn

1. 00oooboooooooon

2. 00000000bDOOO

3.0 n0000000 21,29, ,2, 000000
¢($1,’£2, o 'axn)

ooooog

4.1.1 0O0O0OO0O0O0OO

goooooooooooooooooooooyv,3000ooo0ooooo0ooooDoooOono

1. 0000
O
(a) ~0..0000
(b) vO...00O0..00 AD...00..0

g..ogo..0od

—~
\./\./\(3/\_/\_/
< J

(d oboooo..0ooo.mooo..oooo.0obo
(e 300O..000D0DO..O
2.000000

O
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(@) 00 (), {10
0o

(by OODOO P, Q,etc.

4.1.2 000

boooboooobooboooobooooboobooooboOoboooobOooboobOoboooon
oboooboooooboon

1. PO0000000 $1,82.--+,8, 0000 P(s1,82.--+,8,) 0000
2. A00000000-ADO0O0DOOOOO

3. A, BO0O0O0O0OOOO
ANB,AVB,A=B

oboooboooooooon

4. C(e) D0D00O0OD0 «0000O0D00U0e0O0DO0OUOOO0ODZ0O C(e)0O00O0ODOOOODO
oooooo

(Va)(C(z))  (Bz)(C(x))
0000000000000

oooooOoTrTorFOODOOOOOOOOOOOOOOA,B,COODOOOOODOOODOODODODODODOO
obooboobooboooobobooboobooooboboooboOoboooOooboooooboobn
oooooooon

4.1.3 0O

O00000o0o00000ooo0o0ddn L 00000000000000DO0O0O000O0000
oooboooboooooooooooooooooobooooooooooooooboooooboOonoa
00000000000000A,8,C0000 L, 00000000003 CL, 000000 (1)~ (17)
ooog

1. A=A

2. (A= B)=[B=C)= (A=C)]

3. (AANB)=B

4. (AAB) = A

5. (A=C) = {(B=C)=[(AVB)=Cl]}
6. B= (AVDB)

7. A= (AVB)

8. C=A)={C=B)=[C=(AAB)]}
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9. [AN(A=DB)]=8

10. [(AAB) =|F = (B=-A)

11. (AA-A)=F

12. (AANC)=B]=[C= (A= B)]
13. A=T

4. F= A

15. Av-A

16. (Vz)(A(z)) = A(s) (DDD sO0O)

17. A(s) = (3z)(A(z)) (00O s0OD)

414 0000000

000000000000000000 (modus ponens) 000000000000 OOOOOOOO
v, 300000000000 00O0000000000DO0DOOoO00000oooooooooOogooon
gbooooooboooo

1. 0000
A A= B
B
2. 0000
A = B(a)

A= (Va)(B(a))
000 «0000D0O0O00 ADDODOOOOOOODOOO
3. 0000
Ala) = B
(3a)(A(a)) = B
000 «00000000 BOOOOOOOOOOOO

4.1.5 0DOO0O0OO0

00000000 00000000000 0000dL 00000000000000000000
O (provable formula) 000 0OO0O00OO:

1. J000oboobooooooboobooooooboon
2. 000 AODOUOD A=B000000000(00COO0O0OOOO)0O00 BOOOUODOOOO

3.000 A=>B(e)000000000(00000000000000)000 A= (Va)(B(a)) O
00000000000 00000000 .A000000000000

4. 000 A(e)=B000000000MO000000000000)000 (Ja)(A(e)) = B0
00000000000 e«00000000ABO000D0D0O00OO0ODND
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obooobOobooobooboooobOooooobobooooobooon

Oooooooooo A O

AlvAQa"'vAn

1. 000oboooooooboooogoon

2. 000 A 000000 A0 A4; (i,j<k)OOODA;0 A =A4,00000000

3.000 A4, 000000 A4, (j<kOOOOA;O0

O000A O

00000000 00 e0ODOOOOOODO ADDODDOOODODODODO

A= B(a)

A= (Va)(B(a))

4. 000 A4, 000000 A (J<k)OOOOA;O

Ooo00A O

00000000 000 «e00DO00O00D BOODOOODOODOOOO

4.1.6 0000

Aa) = B

(3a)(A(a)) = B

040 0OO0OO0ODOO

gobooboooobooobooboobooboooooooooooooooooobooooboon
boboobooooooooooooooooooooooooOoobooOoobOOobOOobOobOobobono

gbooooobooooobomooobooooboobooooom

goo

A

5= (0000000)

AO0D0ODOODOOOOOU0 B=A00000000000000000OD (DODODOODOOO

0ooo)

;wz (00O000000)

g:j (00D0Oo0o0)

g%% (00OOooo0o0)
4%? 3%&DDDDDDDDD)
A=BB=C

o (0oDoooo)
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A= (B=C),A=B
A=C
000000 HOOOOOOOOOMA=00044000000L 0000 AOO0O0O00O00O00

O0HOODOOODODODO poO0 AODO0OO0OO0O0O0O0OOOOOOOOOODOOODOODO

0(0O000000o0)

Fog A

gooooood
A A=B

B

gooooooooooa
I—H.A |—H~A$B

Fu B
ocoooooooooooooobo0oooooOoooobo0oooDoD FgyODOOODODODOOOD

4.1.7 0000
00100000 1) 00000 HOOOOOODOO 0000
AhAz’...’An
0000000000000000 BOOOODOODOO0O0000000
A, Agy - Ay bl B (4.5)

gooooooo o
./41,./42, s 7An—1 o (Val)(vaz) cee (Val)An =B (4.6)

oooodod a,a0--- 0 A, 00000000000 O0ODOOCOOCODOO
0000000 OO0 AHOOOoOoooooooooaa
A Ao, A,
0000000000000 HlOOOOOO HOOOOOOOOOOOoOOO
A, Agy - Ay
0000000000 H2O0000

A, Ag, - A b B (4.7)

b B (4.8)
gbooooobooboooooooooao

2 (Val)(Vag) s (Val)An =B (49)

Oo0O0Q0ay,ae---q0 A, 000000000000000

617827"'7Bn—178n(: B) (410)
0 H'O0O0OO0O0OO0OO0OO0O000000000 B, 00000000000
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040 0OOOOOO
(1) B,O A, As,---, A, 000000000
(2) B,0 HOOOOOOOOOOOOOO
(3) 000 B, 000000 B;OB, (4,j<k)0DO0B;0B;=B, 00000000
(4) 000 B, 0O0DOD0O B, (j<k)ODOOB,; O
C=1D(b) (4.11)
00008, 0
C = (¥b)(D(b)) (4.12)
00000000 000600000000 ¢C000000000000
(5) 00O B, 000000 B, (j<k)OOOOB; O
c(b) =D (4.13)
00008, O
(3)(C(b)) = D (4.14)
00000000 00000000000 PO000000000000
oooo
(Va1)(Vaz) - - - (Var) An (4.15)
oooo
A, (4.16)
000000000
A, =B, A, =By, A, = B1, A, = By, (4.17)
0 H20O0 A, =B00000000000

ooo

(1) By O Ay, Ay,---, A, 00000000004, As,--+,A,.1 0 H2OODOODODOODOOO
00000000000 000000

C
D=C ©0)
DDDDAninD H?0000000000000B,0 A4,00000000 (16)|:| [0
gooo
(Vay)(Vag) - - - (Vay) A, = (Vag) - - - (Var) Ap(ar, a2, -+, ;)
(Vag) - - - (Vay) A, = (Vag) - - - (Vay) An(aq, az, a3, -, a;)
(Vas) - -- (Vay) Ay, = (Vaq) -+ - (Vay) An(ar, az, a3, aq, - -, a;)
(Val)An = An(ala A, - 7al)
(4.18)
goog
A, = A, (4.19)

0 H?0000000000000



4.1.

gboooood ol

(2)

3)

B.,0OHOODODDODOOODODODDDODODODODODODODODODOOOODOOOOA, =80 H2000OO
ooooboooo

000 B, 000000 B,0B; (i,j <kDOOOB,;0B, =B, 00000000000
A, =B, 0000A,=B0A,=(B;=85,)000000000000000000

A= (B=C),A=B
A=C

000000 A,=8,0000000000000000
000 B, 000000 B, (j<k0OODOOB;0]

0(@oo)

C = D(b) (4.20)

00008, O
C = (Vb)(D(b)) (4.21)

0000000000000 K00000000CO0000000000000000A,, = By
O000A,= (C=D((b)0000A,= B0

An = C = (Y0)(D(b)) (4.22)

00000000000 A4,=(C=D(})000000000

&= F(o)
E = (Ye)(Fle))

ogooood
A, = (Y0)(C = D(b)) (4.23)

0000000000000 (16)00
(Vb)(C = D(b)) O = (C = D(b)) (4.24)
bogbuoobooboobbooboobooon
(C=D(b)) = (C= (Vb)(D())) (4.25)
000000000D0000000000
A, = By (4.26)

gbooooboobooooooo
ooog

oodd B, Ooooodad Bj(j<k)DDDDBjEI
c(b) =D (4.27)

0000B, O

(3)(C(b)) = D (4.28)
000000000000000 00000000000 PO0O0O0OOOOO0OO0OO
O0000A,=8,00004,=(C(b)=D)0000A, = B,0

A, = ((3)(C(b) = D) (4.29)
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oooooo
00000 (17)oooo0
(C(b) = D) = ((I)(C(b)) = D) (4.30)

0000000000000000000000000000 4,= (C(h)=D)00000
oono

A, = ((3)(Cb)) = D) (4.31)

ooboobooogoboooo

001000 (0000 2)
a1,a2---q;0 A, 00000000000000000

ui e,a---q0 000000000000

A13A25"'a~’4n FH B (432)
agooo
A17A27"'7An71 I_I‘I A’I’L :>B (433)
goooooo
oooo

00 (10)0D00000 HOOOOOoOooooooo
./41,./42,"'7./4”
0000000000000 H'ODOO0OO0OO0 HOOODODDOOOO0OO0O0O000
A, Aoy A

0000000000 H20000

A1, Ao, A b B (4.34)

Fm B (4.35)
0000000000000000000
Fa: A, = B (436)

goog

817827"'7871717671(: B)
0 H'00000000000000O a1,a2---0000000000 B, 00000000000

(1) By O Ay, Ay, -+, A, 000000000
(2) B,0 HOOOOOOOOOOOOOO
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(3) 000 B, 000000 B0 B, (i,j<k)DOOOB, 0B, =B, 00000000
(4 000 B, 000000 B, (j<k)DOOOB, D

c(b) =D (4.37)
0000B, O
(3b)(C (b)) = D (4.38)
00000000 0D00 00000000 DOOOOOOODODOOOO

gooan

An:>Bl7A2$BQ,“-,An:>Bn,1,An:>Bn (439)

0 H’00 A,=B0000000000OD0O
god

(1)

B,O Ay, As,---, A,., 0000000000
A, As-- A, 0 H2O0OOOOODOO0OO0OO0O000O0O0O00O0O00O00O0O
C

D=C
0000A4,=8,0 H20000000000000B,0 A4, 00000000 (1)0000

oo)

A, = A,

0 H?0000000000000

3,0 HOOOOOOOOOOODODOOOOOOOOOOOOO0O00A,=8,0 H2000O0

gooooooog

000 B, 000000 B, OB, (4,j<k)000O0B;0B, =B, 00000000000

A, =B, 0000A,=85,0 A,=(B;,=B,)00000000000000O000O0O0O
A= B=C),A=B

A=C
ooo0o0o00 A,= B, 0000000000000000

0(@oo)

0000
000 B, 000000 B; (j<k)0OOOOB; O
c(b) =D (4.40)
00008, O
(3)(C(b)) = D (4.41)
00000000000 0000 00000000000 POO0OOOOOOODOOO
O0000A,=B,0000A4,= (COb) =D)0000A, = B0
A, = ((3b)(C(b)) = D) (4.42)

000000
00000 (170000
(C(b) = D) = ((Ib)(C(b)) = D) (4.43)
0000000000000000000000000000 A,= (C(b)=D)00000
000
A, = ((F)(C(b)) = D) (4.44)
00000000000000
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4.1.8 OO

oooooooooobpoboOoOOO0OOO0OO0O0OO0000O0OOUUOOOODOoDODbDbOODODDDDOD
O

gobooobooboboobooboob boboooooooooooooboooooDbOOoobDOoOobOoOoD
o000 b0o0DO0OO0O0oooooO0oO0ooo boooooooDooooooDoOobOooOooooDon
oono
oboooooboo3i100obooooooooobobooooooboobooboooooobooboooon
goooboooobooboooooooo

1. 0000000DOO000000
000
a:z€000000000000000 —a(z)eD (4.45)

gooo

2.0000000DOOOODOO
goobooodob0OoOO0DOOOOO0 ODOODODODOOOODOOOODOOOODOD

3. 00000 DO0O0ODbOOoO00oO
FraO000000O0ODOOO

FD™",D)={f|f: (1,22, ,Tpn) € D" — P(x1, 22, -+, x,) € D} (4.46)
O0DO0O0O0DO0O0oooboooooooooooo
§" € F' s p(6") € F(D", D)
p(¢") : (x1, @2, 2n) € D= p(¢") (21,22, -+, 2p) (4.47)
good

4. 00000 DOOOOOODOO
ooooooo v={T,FloP"0nn000000D000O0OO0DOO0ODOO,

PD™ V) ={P|P: (y1,y2, -+ yn) €D" = P(y1,y2,---,yn) € V} (4.48)

ODbOOnnODDOOODOODOOOOODOO
oooooooboo

P" e P" — n(P") € P(D™; V)
7T(Pn) : (yl,y% e 7yn) €eDw— W(Pn)(:ﬂlax% e 7xn) ev
(4.49)

gooo

M= (D, p,) (4.50)
gboooogd

0o M=([D,p,m 00000000 DOOOOOOO «000O0O0OO0OO0 DOOOODODOOOOOO
000000000 o0o0oo0oo0 (M, ]00000000C00O00OOOOO0
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1. 000

() 000000 ;00000
(M, a)[z] = alz) (4.51)

(b) 000000 000000000 0D000O00OO00O0O0
(M, a)le] = ple;) (4.52)
(¢) $1,82,-,5,000,0000,D,a0000
TM,a)[si],i=1,---,n (4.53)

o00nn0000¢"00000

T(Ma a)[¢n($1a 8§25, Sn)] = p((bn)(T(M? a)[sl]a T(Ma O‘)[SQL e 7T(M7 a)[sn]) (454)

2.00000
O

() PO n0000000000,s1,80,-+-,8, 00000,

T(M, a)[P"(s1, 89, -, 80)] = 7(P")(T(M, @)[s1], (M, @)[s2], - -, 7(M, @)[sn]) - (4.55)

(b) 000000000 D0ODODO0O0000O0 P00 V={T,F}00000000000O0

007(M,a)P’l==(P% evOD (4.56)
gooboood
(c) ADDDODDDOOO
O7(M,a)[-A] = -7[M, a](A) (4.57)
(d) A, BOOOODODOO
T(M,a)[ANB] = 7(M,)[A] A T(M,a)[B] (4.58)
T(M,)(AV B) =17(M,a)(A) V T(M,a)(B) (4.59)
() C(a) 00000 «000000«0000000000020C(e)0000000000O0
ooood
(M, )[(V2)(C(2))] = \ 7(M,a)[C](b) (4.60)
beD
(M, @)[(3z)(C(x))] = \/ 7(M,a)[C](b) (4.61)
beD

000 DOO0OO0O0O {ai,as, - ,a,} 000C(z,y,2) 00000000000



o6
obo0o00d 2, 000000 cOO0OOO

TM, )[z] = a(z) = a1
T(M, a)ld] = p(e) = as

goog

T(M, a)[(V2)(C(z,¢,2)] = J\ 7(M,@)[C(z,¢,b))]

beD

= A\ 7(O)(r(M, a)[z], 7(M,a)[d], b)

beD

=m(C)(a1,as,a1) A7(C)(a1,as,a2) Am(C)(ar,as,az) A---

(M, @)[(32)(Cl,¢,2)] = \/ (M, a)[C(z, ¢, b))]

beD

=\ 7(C)(r(M, a)[z], (M, a)[c], b)

beD

= W(C)(al,ag,al) \/7'('(6)(04,0,3,&2) V W(C)(al,a;g,ag) Vo

419 0000000

goLOO0DOoOoOoOoOooOoOooO
g:{A17A27-’433"'7}

goo

1. 00000 M=D,p,m) 00000000 DOOOOODO «O0OOO

T(M7a)[A’L] = T? i= 1a27"'7

040 0OO0OO0ODOO

(4.62)

A7(C)(a1,as,an)
(4.63)

V7 (C)(ar,as,an)
(4.64)

(4.65)

(4.66)
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